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Kafrelsheikh University

Faculty of computers and Subject: Social Context

. . of Computing
information .
" . Time allowed: 3 hours
1%t level Final Exam
Pages: One Pages

Date: 22 /5/2018

Answer the following questions

Question 1 [ 20 Marks]

1.1. Define Information
Technology — Globalization - Social Computing — Informatics - Digital
divide
1.2. List and write a short note about advantages of Information Technology?
1.3, List five domains of using Information Technology on our life?
Question 2 [20 Marks]

2.1, list the main Advantages and disadvantages of Information Technology

2.2. How Does Technology Improve a Business communication?

2.3, write a short note about the Impact of Information Technology on Our
Life?

Question 3 [20 Marks]

3.1. List five Social Computing systems? give a real example of each?
3.2. Artificial Intelligence is one of The Scopes of Informatics. Explain how
Artificial Neural networks can simulate Human brain?

3.2. Explain how to bridge the gap created by Digital Divide?

with my best wishes Dr: Reda M. Hussien
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Kafrelsheikh University

Faculty of Computers & Information
Subji
Time Allowed: 3 Hours
Code: HUM132

Full marks: 60
Date: 26 / 5 /2018

ect: Interpersonal Communication Pages (2)

e i

Answer the following questions

Question]f: (10 points)

Mark the following sentences with True or False and correct the false ones:

[. Drop-in visitors may cause semantic barriers. )
2. I-it communication is the highest form of human dialogue. (G
3. Safety needs are the most basic level in Maslow’s hierarchy of needs. )
4. The introduction page in report may contain diagrams. « )
5. Impersonal communication is defined as communication with the self. )
6. Majority of our communication is through the non-verbal channels. )
7. Posture is one of verbal communication forms. )
8. Linear communication is a three -way process )
9. The abstract page in report shouldn't contain page number. )
10.Context is the means by which the message is expressed to the receive. )

Question2: (10 points)

Write the difference between:

1
2

. Verbal and non-verbal communication

. Interactive and transactional model of communication.

Question3: (20 points)

Discuss the following statements:

—

. "Good English is plain English".
. "Visual aids are helpful for presenting information in oral presentation”.
. "Barriers breakdown the continuous communications loop”.

. "Effective email should be constructed and written with simple rules”.

(sl 3 )

@
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Questiond:

Write Short notes:

1.

W

Question5:

BLUF.

2. Intercultural communication.
3.
4

. Jargon.

Extempore speaking.

Proxemics.

Explain the following:

I. Different views of communication.

2. Elements of the communication process.

Ay cugaif
G sl el e
Du. Diana Fhanwat Mesa

(&

(10 points)

(10 points)
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Pages (2)

Answer the following questions
Questionl: (10 points)

Check the following truth table, and then answer the questions following it.

x| v | z F
0o 0 | 0 1 |o
KEERE 1|
ol 1|0 0 2
0 | 1 |1 1 |3
1] 0] 0 0 Y
Tt 01 0 S
1|1 0 1 6
1|1 1] 1 7

(a) Express the Boolean Function F(X, Y, Z) in the sum of minterms form.
(b)Express the Boolean Function F(X, Y, Z) in the product of maxterms form.
&) Simplify the{_ function F(X, Y, Z) to its simplest form.

(d)lmplemg‘nt the digital circuit corresponding to F(X, Y, Z) using NAND gates only.
?

uestion2: (10 points)
(a) Convert the hexadecimal number 64CD to binary, and octal.
(b)énmpiﬂ“y {he following Boolean expression:
| A'C'+ ABC+ AC'
Q_;zgg@';_zi; (10 points)

F vy (a) Design a four bits combinational circuit 2's complement (the output generates the '

’ 2's complement of the binary number).

(b)Prove that NOR is a universal gate.

(wilsd) B Al )

©
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Questiond: (19 points)

(a) hplement a full adder circuit with a decoder and two OR gates.

(b)Analysis the following combinational circuit:

uestions: (10 points)
Simplify the following Boolean function:
Fid, B, CD)=1m(0, 1,2, 5,8,9,10) +2d(12)
into:
{a) Sum-of-products form ,
(b)Products-of-sum form
(10 points)

Questiont:

() Given the two binary numbers X=110101 and F= 011110,
perform the subtraction (X-1)

(b)Implement the following Boolean expressions:
FiA, B, )= ((4+BC) + (4B

) eyl
Gl id
D, Diana Thanuet Mosa
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Final Exam of
Computing Economics (HUM133)
2017/2018 (second term)
Date: 5/6/2018
Time: 3hrs

Kafrelsheikh University
Faculty of Computers and Information
Department of Computer Science

Choose the correct answer, only write the number of question and the answer: (14 Marks)

(1) It provide consumers with information about quality when quality cannot be easily judged.
(a) Supply (b) Brand Names (c) Advertising (d) Nothing

(2) Is detrimental to consumer welfare in the long run because once the competitors exit the market,
the predators raises prices with the intention of collecting supra-normal profits.

(a) Price competition (b) Base pricing (¢) Predatory pricing  (d) Nothing
(3) Is one in which customers pay different prices for the same type or amount of merchandise.
(a) Segmented pricing () flexible-price policy  (c) Predatory pricing () Nothing
(4) Number of potential consumers is one of the determinants of .
(a) Demand (b) Predatory pricing (c) Supply (d) Nothing
(5) Setting a high price for a new product to capitalize on high demand.
(a) Base pricing (b) Skimming pricing (c) Predatory pricing  (d) Penetration pricing
(6) It refers to price adjustments required because of the location of the customer for delivery.
(a) Penetration pricing  (b) Skimming pricing (¢) Geographical pricing (d) Nothing
(7) The externality which occurs because as new firms enter, other firms lose customers and profit.

(a) The business-stealing  (b) The product-variety  (¢) The positive

. .
externality externality externality (d) Nothing

Write only, the term that expresses each of the following paragraphs: (14 Marks)

(1) Setting a low initial price to encourage higher distribution and exposure.

(2) Is defined as "The set of controllable marketing variables that marketers employ to obtain
the desired responses from their target markets".

(3) Are those who have received enough training to become licensed or certified in a particular
trades field.

(4) Is one in which all customers are charged the same prices, quoted to them by means of signs
and price tags without deviations.

(5) Is generally used in conjunction with sales promotions where prices are reduced for a short
period of time.

(6) Is a systematic approach to estimating the strengths and weaknesses of alternatives that
satisfy transactions, activities or functional requirements for a business.

(7) Represents the sales amount in either unit or revenue terms that is required to cover total
costs.

@
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Kafrelsheikh University

Final Exam of
Faculty of Computers and Information Computing Economics (HUM133) 2
Department of Computer Science 2017/2018 (second term)
Date: 5/6/2018
Time: 3hrs

Answer the following sub-questions as what is required at each of them: (14 marks)

(1) Define the Expectancy ?
Define A Money Management ?

Define A Monopolistic Competition ?
Define A Present value ?

Define A Price as in "Merriam-Webster Dictionary" ?
(2) What are the reasons for arising the monopolies ?
(3) What are the points of Establishing the Base Price ?

(4) What are the peints for Determinants of Demand ?

(A) Answer the following questions as required in each of them: (18 marks)

L Write about the Four factors can help marketers use Segmented Pricing Strategies.

II. Prove the break-even point (BEP) in terms of Unit Sales (X): ¥ = TFC
P-V

(B) Calculate the Expectancy at the following case:

Even if a trading system has 56% losing probability and only 44% winning of all trades, using
money management a trader can set his average win substantially higher compared to his
average loss in order to produce a profitable trading system. If he set his average win at around

2508 per trade (this can be done using proper exit strategy) and managing/limiting the losses to
around 1008 per trade.

(C) Calculate the future value of money at the following case:
The current value of money now is equal 800 Euros, where the expected rate of return is 5%

per half year. Compute the value of money will to be paid affer 2 year from now.

With best wishes; o5

o&k“ﬁ;
Dr. Osama M. Abu Zaid
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Final Exam of
Programming Fundamentals (CS141)
2017/2018 (second term)
Date: 12/5/2018
Time: 3hrs

Kafrelsheikh University
Faculty of Computers and Information
Department of Computer Science

1

J Write the output of the following programs in console of C#.Net. (12 Marks)

[

. OUTPUT
int x,y,z

x=12;

y= 44

Z=y++
Console.Write (x);
Console.WriteLine (y);
Console.WriteLine (z);

®B) Console.lirite(™ = ); OUTPUT
int n = int.Parse(Console. Readtine());
Console.birite(™n = *); n=35
int m = int.Parse(Console.Readline()); m=10'
int num = n;
long product = 1;
do
{
product * = (num/2)
num = num+5;
} while (num <= m);

Console. biriteline("product(n...n] = " + product);

© Console.Write("n = *); OUTPUT at using continue
int n = int.Parse(Censole.Readline());
int sum = 8; n=15
for (int i=8; i<=n; i +=2)

{

Hf(1%5 k= 8)
'
1

continue; OUTPUT at using  break

//break;
1 n=15
!
sum += i;

}

Censole Writeline("sum = " + sum) ;

With best wishes; és5
O 2\8
Dr. Osama M.’ Abu Zaid
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Final Exam of
Programming Fundamentals (C$141)
2017/2018 (second term)
Date: 12/5/2018
Time: 3hrs

Question (1) Write only, the term that expresses each _of the following paragraphs: (12 marks)

(1) Is the 32-bit real, it is also known as a single precision real number, and il has accuracy up to
seven decimal places.

(2) Is a program that to translate the source programs which is written by programming language
and turning it in onc batch to the target program.

(3) Is similar (o the programming languages but it is not a programming language, as they contain a
mixture of language expressions with the math. symbols and expressions. with arithmetic
operations.

(4 s used for Increment or decremert such that we place them immediately after the variable, /.e
the original value of the operand is returned first, then the addition or subtraction is performed.

(5) Are an operators that acts on the binary representation of numeric types.

(6) 1t can be used to compare expressions such as two numbers, two numerical expressions, or a
number and a variable whereas the result is a Boolean vatue.

Ounestion (2) Answer the following sub-questions as requiréd at each of them: (12 marks)

(1) What are the Classifications of Programming Languages? With briefly explain.

(2) When is the array symmetric? Explain with drawings for examples.

(3) Define the Program, and What is the Attributes of Algorithm ?

(4) Write about the Merhods in C#. With illustration its job by example of code for ' Fectorial '.

Duestion (3)  Answer the following questions as required in each of them: (12 marks)

(a) Write the general structure for (rested if, do-while , and switch-case)
(b) Write for each one of foliewing names proper or improper as variables with the reason.
@3ali _3ali_6 K@i $ali 9 FOR iff

(c) Write pseudo Code and draw a Flowchart for Carpenter wants to cut up a set of Wooden
Planks, each the length of more than 3 meters into small pieces cach of which is equal to the
fength of 3 meters.

Question (4) Write the program by C# for (o) & (b) , and only one of (b} or (¢) (12 marks)

(a) Usc the Methods and Loop in C# to create program to draw Triangles of numbers with

Different Size . The size (1) of numbers will be read from the console.

(b) Write 2 program which makes a series of comparisons by using Sequence-if of a variable (Ch)

to check if it is one of the Vowels from the English alphabet or Consonans.

(¢) Write a program that calculates n#!/*A&//(n-k)! by using a Method for given n and &k (1<k<n).

(d) Write a program that use the coefficients g, 6 and ¢ of a quadratic equation: a’ +hxte to
calculate and print its real roots (if they exist), check it has veal roots or imagine roots.

@
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The second semester exam, (2017-2018) Date : 15-5-2018

Answer the following questions

1- (a) Express Z—L as the sum of its partial fractions.
(“+x+1)(x-2)

(b) Find the sum of the following series

L L1
Skk+) 2 6 12 20 77

2-(a) Does the series Z— converge.
wan

&1
(b) Use the integral test to determine whether or not 2~ converge.

n=l

3- (a) Find the angle between the vectors
a=3i-2j+7k b=-5i+4j-3k

(b) Find the value of x for the linear equation 3 + 48

x-1 x+1 x+1

4-Find the general solution of the differential equation

dy 1
-t x
dx y y

5-(a) Soive the following equations by matrix
x+2y=4

3x-5y=1

(3 7\(2
(b) Find L4 5](9J

With my best wished
Prof. Dr. Osama Abo-Seida
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Answer the following questions

01. Put_True (T) or False (F) and correct the false sentences(18 points)

1. Re-identification is identifying the individual from a set of anonymous
data )
2. Social and personal activity is the responsibility of the companies only.

(O

3. Data Mining means analyzing data to determine characteristics of
people most likely to engage in certain behavior. )

4. The Fourth Amendment protects a right to privacy from business
companies. )

5. Opt-out policy the person explicitly checks or clicks a box or signs a
form permitting the use. ()

6. Government can ask someone to un-encrypt the files for search warrant.

)

7. Ouline retailers make recommendations to you based on exact
information about you. ( )

8. History sniff>rs often downloaded from a website without the user’s
knowledge. (G

9. Federal laws and regulations require specific privacy protections for
financial and medical information. ( )

2. Give the scientific term for the following definition(12 points)

1. Allows a person to make loan applications, business contracts
online, saving time and paper. (e, )
2. Control of information about oneself.

3. These technologies can search our homes and vehicles but do not
require police to physically enter or open them.

4. Secure financial transactions electronically without the seller
acquiring a credit card or checking account number from the buyer.

O
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Q3. (15 Points)

l. Discuss differences and similarities between Warren and Brandeis and
(10 points)
( 5 points)

of Thomson in their view of protecting privacy?

2. List five risks of privacy via new technology.

Q4. (15 points)

I- For what reasons search engines store users queries? (5 points)
2- How do the companies pay for consumer information? (5 points)

3~ What is the invisible information gathering methods, give examples?
(5 points)
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